dafua o s ifdg

CIFE O I J
(A) Bwm It (1) v
(C) vays c"j (D) 3t
Find the related word, ““]

Pi: Circle & Phi: ? @
(A) Triangle ] (B) Golden Ratio
(C)  Pentagon W (D) Rectangle

G)
R s w5 vl it ofk reffas war a1 s A |
5 A —» Sefmam faE
30 ) 40 O — ragfrFH A e
2

0

1 2
20 /17 (15\
-

0 & |
/ i x5 3 [ ]— siafrsmdad
Frar =afe Faa s 2 <

(A) 55 B) 70 @ (C) 45 (D) 75
Examine the provided diagram and ond to of the following question.
\"F3
10 25 ® A —> Persons who take tea
20/ 17 (15\ 30 40 | O —> Persons who take coffee Lo
7\ 20
- |:] —> Persons who take juice
How many individuals drink only coéﬁee 7
(A) 55 (B) 70 e (C) 45 . (D) 75

150 ST 1 T HaT §, 70 S MR g, 60 T W fam & Iefiof 5u aik 20 B At 3k @R
orgr 21T 2 eftot g | < e e e it o wen R

In a class of 150 students, 70 stuggnts passed in_Mathematics, 60 students passed in Chemistry and
20 students passed in both Mathenflﬁcs and Chemistry. Then the number of students that failed in both

the subjects are : &
(A) 60 ®) 50 @ (€ 20 (D) 40

Gra:a;ncr5%cﬁwﬁaﬁraaﬁ%sﬂrﬁmo%ﬂ%aﬁ'aﬂtgsﬁ%aﬁtsﬁm“raﬁraa"?r%a’tmamff{,mm?
frafrizd; Sso 92 ge GO
(A) 7 Tt © 4 (B) 4 forfy - q/ﬁs ~Q-

(C) 6Tt (D) S fereft
How far are you from your starting point when you walk 5 km north and then turn 90 degrees to your lef
and walk another 5 km ?

(A) 7Tkm (B) 4km
0 Sy ¢ ¢ P - o @ Skm
Por's 407 IR . < Page2 of24 TTTETTTEmmmmmesemttt Al
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18ure that com

NS

pletes the pattern,

m ]
N
0 4

e
X) | o
&) d
3 33
< ®) %(0) ®) [A4
A sy <
| )
Fill i e T 3 forw feep o Wi @)
ank to complete the given letter series
M ABC, GHIL, & g1y
) JKL
© Kim o
R o2 31 iy O
%Tﬁﬁ:%ﬁﬁm::w.? e '
(A) iR B) = o ) e
Find th_e related word - ® "“:: e ' ) 58
Elephant : Sri Lanka :: Kangaroo : ? @ '
(A) Australia (B) Russia D (C) India (D) England

Qﬁﬁa@ﬂxaﬁaﬁtsﬂmm@, ng?mﬂ%a%wnﬁm ‘g T T it = v e 2T 1wy
TR e dwrdd e @ g _

A) ¥ B - ‘3%3" ST () st

(C) wdish . (D) dwit

Pointing to a photograph, Madhu said to her friend Krishna, “He is the only son of the mother of my
father.” How is Madhu related to the person in the.photograph ' :

(A) Daughter by (B) Cousin
(C) Niece ; e (D) Grand-daughter
; i i
H%rﬁa(?)%wwwaﬂaﬁa‘rﬁﬁaﬁaa@ggﬁm |
Choose the appropriate figure from the Answer ures to replace the question mark (?).
> 1 o . P
Al
0 ?
o
I I Im v
© o
o B) © D)
) y |
W Eemmrml ant SN e
YX-.24
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10. Gsfa o=y A |
BNE : AT e - 0

(A) = (B) A9
© for (D) ufen
Find out the related word. ':a_".l

Diamond : Baseball :: Court : ? H
(A) Rink ':‘5(}3) Squash
(C) Ring j(D) Arena

1. wRREHEH, ‘GARD ®1 ‘HEAR® forar s ke e 3 « DROP® & fera smem 2
In a certain code, ‘GARB’ is written as ‘HEAR’. }Ew will ‘DROP’ be written in that code ?

(A) EUXG )(B) EVXF
(C) EWXF (D) EUWG

12. feumwaem aﬂtﬁw&aﬁw%qaﬁtﬁvhﬁﬁﬁq%aﬁmwéﬁaﬁ&mmﬂwm%ﬁﬁ%i

FT ;AT STl AT AT T SR AT S50 T4 BT € |
L ﬁ?ﬁ?ﬁaﬁquﬁﬁ%l
II. wmﬁaﬁ@nmmwmmﬁ%

(A) AT e 12T 11 STR0T e & _ »fﬁ(B) 74 Freered 1 3 € 11 SFET AT @
(C) et Feahe | STeor ahaT & (D) aﬁaaﬁmﬁéﬂsmwm%
‘Read the Statement and Conclusions gwen aninemde which of the Conclusmns follow(s) from the
Statement.
Statement :  Red-haired people love riding bmcg:]
Conclusions : L
1. All people love riding bikes. 3 _
II. Red-haired people love riding bikes only. i
(A) Either Conclusion I or II follows (B) Neither Conclusion I nor II follows
(C) Only Conclusion I follows (D) Only Conclusion I follows

13. fewe faepedt & fomm @IsTre) 1 T |

Among the given options, choose the odd one out/n

27, 125, 343, 512, ?2912, R
(A) 729 & @) 512 f’f © 27 D) 343
14, e g T AR ‘*]
Find the related number. _ "_;“‘.‘_
7:48:12:7 'j
(A) 143 (B) 112 )(C) 21 (D) 84
15. uﬁmm.qa’rﬁaﬁmgmwﬁaﬂus %T,f’ra'rﬁaﬁw% t o1 o1y b R H e R E 0
(A) ufaw (B) q‘q‘
(C) s , & ' (D) afaor
Which way would you face now if you turned 45 degrees to the left after starting by facing north-east ?
(A) West (B) East
(C) North (D) South
s AT i s A Pagedof2d T e
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oIS T IPE 58 3

QAL FL= & 45+8 S~

R | 4542
16: AR P, o o) quir &, Q) 0 Wz &, R, 0 Az & she s, o Ay g & @

;?‘%,ISP3RSSS’WW:{\&T%? S'_'*} <J
3 represcnls "E'-“ ‘Q‘ e )I'CSCI]I.' .xl:'-!'R', L » o ‘-l-’ i d ‘S' + Nty 1 h' * ]uc Gf
iﬂls l: 3RSSS 9 ] S A, &lcprcsuré{-ﬁd n rcprcsf...n g , what is the va
- ;ﬁ; w (B) 49 (O Ju4 (D) 47
: - m 11:1;12L1nn+n2 T i P = (m+n)2—mn@Eﬁ 293)%(523)=
) 361 (B) 876 (CIR4332 (D) 978

w-gﬁwwwﬁ@mﬁmm@wﬁﬁ&%ﬁmw%ﬁmﬁmwmwmﬁ
? | |

Observ-e the arrangement of the serics of letters “TLSEEV”. The logical arrangement can give which of the
following meaningful words ?

L

(A) TEASEL (B) LEAVE (C) VESSEL (D) STEEL
19.  Feifa it f fa e g “POTASSIUM? 3 el SR w1 Sharer T a1 ST ek ot o & sh-ar
3o AT ST TohaT 2 | 3+

Determine which of the following words can beﬁvrmed using each letter of the given word
“POTASSIUM? only once. j |

(A) MOUSE (B) POPPS (cfBMASS (D) TOAST
20. Pt & firew () B3 L]
Pick out the odd one from the following : ®
1331, 1728, 2197, 2744, 3365 |
(A) 1728 (B) 1331 (C) 3365 (D) 2197

1. Frafafea & & fouw (3is) =g
Pick out the odd one from the following : [9
5,15, 60, 350, 1800
(A) 350 (B) 1800 D (CUIS ' (D) 60
2. @nﬁwﬁmmmﬁ.mmi@,ﬁnﬁﬂ@ﬁﬁmﬁéﬁ%’la's'ﬂ%wmﬁaﬁﬁﬁ?@r

YFR GO & ?

(A) Tl (B) ¥ h (ot ©) 3
Pointing to a woman, Ashok said, “Her granddaughte@ﬁs the only daughter of my brother”. How is the
woman related to Ashok ? ,
(A) Wife (B) Mother-in-law (CgMother (D) Daughter
3, s@er:3,7,15,31,63,..  &3F2 ®
. £ X » > : = y \FZ .
et s AN ? |36 %’;é [ - eeva Wb D1

Series : 3,7, 15, 31, 63,42 :
What is the next number in the series ?

(A) 127~ (B) 135 © 97 T M) 14
pp—t S et |

®) T (B) M © Het (D) wifere

Choose the word which is different from the rest.

(A) Emu (B) (_)ffr_“_’lf ____________ (_(E)__Ei_“:i _____________ (D) Hornbill
ST e ageanaont B Page Sofad T e
e QUSSR F L S ke e S ke S B e S

(% Scanned with OKEN Scanner



25,

26.

e e B T e 3 e R el ¢ e A L s

a. 31’3?{,2024a35311§23%285réa:3ﬂi{v W @

b. =Eag3awrEd apEil :

R 60% S 3n e s ) o dvee e e |

Sereg A 50 W 8 =HaH 25 37 | .

zﬂ%mﬂm%:wmqa‘f%,a’rmn:?&wwﬁﬁm T

£ afs IEfican $etey | <A 3% W 2, v Het 1 e

¢ R SRR 3T i A g R el e e 8, AT e 5 PR A A
AST TR | :

ﬁmﬁ%wﬁ%mm@m%maﬁqﬁmﬁ

T &M © 56% 3T F AT MCA. 5 faifer : 12 wadt, 1999 | T [Eeh

55% e T fahu | o

(A) IFea 1 = e & w7 i R AT e

(B) STAHMWE -

(C) T et 3 FrRereh S ol SISiT ST 8

(D) IFFIGETL <Y Hehrd TG o &0 H 7 9

Consider the conditions for selecting facul
a Age between 23 to 28 years as of Ap@) 2024.

Work experience of minimum 3 yeaﬁ]

Postgraduate degree in relevant subjeeBwith at least 60% marks.

Minimum of 25 marks in the interviewy out of 50.

If the candidate does not have PG, the case is to be referred to the senior faculty member.
rview, the case is to be referred to

g o

Sicikd

1

7

embers in a School :

=8 L =8

If the candidate does not score minimum marks in the inte

Principal of the School.
If the candidate satisfies all other qua

Board of Directors of the School.
Which course of action should be taken fm@hdha Ranjan based on the following information ?

Sudha Ranjan : MCA with 56% marks. Biite of birth : February 12, 1999. 5 years of experience as a
teacher. Obtained 55% marks in the interviedd.
(A) Candidate is to be selected as a teache{}

(B) Datais inadequate @
(C) Caseistobe referred to the Board of[P]rectors of the school
(D) Candidate is not to be selected as a faeRlty member

g lifications except the age limit, the case is to be referred to the

srpter 3 Pt o1 s 1 IS

Find out the number of triangles in the figure.

4
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27. TR Rt & 4 s o o R g i |
Find the nex . _
ind the next ﬁgll:c in the series from the given options, O 3 ](' 3
® -
©)% (© ?
O
o) Y Ity () )
5 ¢
3 B) Qg X2 (D)
8. WuW )
8. 24 SRl AT T AT © ; th-Hb @ 9/%&25. z
The sum of the first 24 natural numbers is : ?} L »?5
(A) 325 (B) 600 (cwmo (D) 576 e
0. T, Mﬁwwﬁmﬁmw@lﬁmﬁmﬁwmw e
T =y T o w2 n | 8
In a classroom, the number of boys is three times tl (Enumber of gLrls Which of the following totals cannot
represent the number of children in the class ? / g 3
(A) 22 (B) 40 (C) 20 (D) 24 -—?
0. TS IECH X, Yaﬂtzmaﬁr?ﬂqaﬁwa@{%m@ﬂ%mﬁmxmmqﬁ% M wEs Y,
T 7 A R T &, AR ek wR AR g 7 P _
(A Z (B) XAZ 59y D) X
A town has three streets parallel to each other named X@ and Z. If street X is not the busiest, and street Y
is busier than street Z, which street is the busiest ? ®
A Z (B) XorZ ' (CE:']Y D) X
. STEEH HEAT 1A hIeTT |
Find the dissimilar number, @
(A) 512 (B) 216 | (C) 343 (D) 169 _
) aa@qqmﬁﬁ@%ﬁ%ﬁmw@)mmw%ﬁwﬁmﬁmﬁm@m—ﬁﬂm ';
T SR T o 5 |
() T (ASED) (B) TR () S () (D) SO @) |
When a cube is sliced by 2 plane perpendicular to one{of its dlagonals what is the shape of the resulting
cross-section ? Tk
A) T rapezoid (B) Pentagon (Ca#4Octagon (D) Hexagon
mgmw@rﬁm <
o G o s £ ® )
(B) TEHl () prafsia (D) WEEAT
A) I ry
Complete the analogy ° ; ®
Heart : Circulate = Lungs
() Digest (0) Bl .o (TR
-._._Sé_)__y_lgl_o.r{- ------------------------ Page Tof2d = oo
1X-.24
| -
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34, :
%ﬁﬁmmmmﬁm e Afdr i o XY TR

i : ; ; . t XY :
Find the mirrop Image of the figure from the following if the mirror 18 placed 2

|
‘ Y
o

35. fyw @i

Find the odd one out.

’ * I ‘Eg_
# | L
ANBFQ @SO@A&#O
'3

m )= _
- i @?”( ‘U{ — qan TP
X E
* 9\%?- 4
56y —
I
) ®) © (D)
# e =
36, dmiompRid et A vEn T ARE © A
Find the number of triangles in the given f@r&:. A,/g) | }gg
® | A

ivi i ©
‘0 l
/ g b= 1%
@ 1 B) 10 o2 © 9 (D) 12
37. T, ‘%mﬁﬁﬁﬁ%ﬁ%ﬁwﬁwmﬁ%ﬁﬂ BENEICE
(A) " (B) @t ® (© (D) forr
Dh;mesl:7 said, “This girl is the wife of the @dson of my mother.” Who is Dhanesh to the girl ?
(A) Father-in-law (B) Grandfathers> (C) Husband (D) Father
38, frefafad sjwen § e ST ht TE=H s
Identify the incorrect number in the following series :
27, 26,24,21, 18,12
(A) 15\‘1‘5\" ®) 24 © 27 D) 12 |
a’i-—izl ______________________________________ 1;:;g_e_.Ei_o"f"z_;{‘'""'"““'“'"---"----——~-----——-—-—-'_i
| |
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39.

40.

‘:Jl

-

| — 3
25% ot arffe M
0 gt HTTOT ST ) A e Y foast @ efly o & st 2 (~25

(B) 8ad (©) 5 a4 (D) 10 =

In how i : : '
o much time will an amount be tripled, at the rate of 25% per annum simple interest ?
! years (B) 8 years -~ (C) 5years (D) 10 years

C T M 9t 24 R 8 3t D 16 R § o5 v & | 378 v A e 9 o, e p 3 i g EH
4T v o f 3 ‘ s T
et | e o fReft o o et 2 CI==48 2 x5
(CA) 9.6fw B) 9 ¢ 1 =l o 14
can do a piece of work in 24 days and D in 1§ays. They began the work together, but D left the work

4 days before its completion. In how many daysewhs the work completed ?
(A) 9.6 days ~ (B) 9days &1 (©) 12days (D) 10 days

.

110@3@*3@,@3@!4% 2T LT © o JE@i2 w%ﬁmu@%wmm% | A1 gHHER

A wfrera 3 i | | [ HocfP = 22 ;

After selling 110 oranges, a shOI;keeper clairﬁé:‘-: that he m’él?cs a profit eq%lv;(} the selling price of

22 oranges. Find the profit percentage of the shdﬁﬁecper. A% ~ o | o 2 (&74! ‘d/j
(A) 25% (B) 80% ©) 22% >4 (ég 75% r?

O T 3 T R 16 A o e o & ik g ek 6 et an 16 fodt ¥ g e o & 17
12 % i At o g 8, g el e Rt g e |24 B)Rbk £gmd
@ 3t Y& T 18 0k L © sfa (D) 4T

A work is done by 3 males in 16 days and the same work is done by 6 females in 16 days. If 12 males and

8 females work together, then they completed thidkvork in how many days ?

(A) 3 days (B) 10 days 1 © 5 days (D) 4 days
X . ;
2 HETSHl T AW 1: 2% ﬁﬁﬁﬁ@ﬁﬁ@ﬁﬁ@ﬁﬁTﬁ?ﬁWS . 7 B ST & | 39 HEATRAl Tl {1
- el g
Aif) L 2 /7 3 DY
The ratio of two num@e?ﬁéﬁ' : 5 If 21 is added:$ both numbers, then the ratio becomes 5 : 7. Find these
numbers. Socs1ad S (socd I@F i .
B) 8,40 A= 4_4?, ©) 7,14 D) 21,42
Wil
o TAE H S%nammﬁ%aqqﬁuﬁqﬁ@é | 58 T H, e of IR o | ferstar et WAl &1 48% W
0, 7T TfEE Al 1_lonﬁﬁwém%|ﬁgmﬁmmaﬁﬁ§ammaﬁ?
89, of the voters in an clection did not cast their votes. In this election, there were only two candidates.
The winner, by obtaining 48% of the total votes‘fgfeated his contestant by 110 votes. total number of
yoters in the election was : b ‘i e M ' 4;}”, _ ﬂ,@ip( 17 0 Sq?" :
(A) 1220 (B) 2750 o 04 (©) 1210 D) 1235 ——L‘q_
@mﬁmazﬁwﬁm@ﬁmﬁwm&rmmmmﬁm%mmmw75% q
w1 forar & 1 qeet & € g HiT T AT 3T 60% Qi =1 e 3 & R e 2 st wear 8 | Al {3
T Y 7 3T o [T 3 ST TR € SRR, oY S i & HI ST S S < g 2
A college has raised 75% of the amount it need‘éﬁ or a new hl_xilgling by receiving an average donation of
# 600 from the people already solicited. The Ig'éxﬁple already solicited represent 60% of the people the
llege will ask for donations. If the college is to raise exactly the amount needed for the new building,
cohatg\wuld be the average donation from the remaining people to be solicited ? '
b (B) %500 (C) T300 (D) %700

(A) 14,28
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46.

47.

48,

49.

50.

51.

52.

GV X . - . 'f”"""'”""""“"""'“Fu}.;?f{f&fi]"“'g‘%;%};'i-i-; -------------
. © ot 75 : % ﬁ

_ S ST 5.8 3 w3 wrw apcan & 1 ) 91 vl s areafereh aftd 3t A 8

e
- ows S8 L

T AR T ey 35 100 st 3 st st ) mor i @i, ereft & 8.6 % 7 6.8 fofere (O) FT R

ination, by mistake enters 6.8,

A tabulator whije caleul ating the average mirks of 100 students in an exami 5o
f those students 18 :

instead of 8.6 and obtains the average as 5.8. Then the actual average marks ©

(A) 5.881 (B) 5.928 (C) 5.818 (D) 5.782

T P A F T 48 sﬁ%ﬁaﬁfzsuﬁfﬁwﬁﬁaﬁzﬁ:ﬁaﬁﬁmwﬁ frerr e, A 9@ % 40

iy et w1 frsror ST ek 2 A%, ) : |

In what proportion must a groca mix sugar at '&4& per kg and T 28 per kg so that he makes a mixture

worth ¥ 40 per kg ? AR *ggj

(A) 2:3 B) 12:7 ’5((3) 4 o (D) 1:4

o cre i S 10 Ry o ﬁq@@laﬁmf\ﬁwsmgﬁwmaﬁmww
ST (T 6 1) foert wrr 3 8 atbIle 20 D

@) 6% ®) 4% (C) siz  gq+B (D) 10K

A boy can swim in still water at a speed of 10 kn‘@’r If the speed of the current would have been 5 kmph,
then the boy could swim 60 km downstream (along the flow) in how much time 2 :

(A) 6 hours (B) 4 hours (C) 5 hours (D) 10 hours
R T & &, Teet d T s 15 2 i s a5 ahad 16 31 3R sifm He 198, IR ENiRsEzl
FTR? M5 45 48 _ 1s . 152220 22
Out of four numbers, the average of the first three\:z} 15 and that of the last three is 16. If the last number is
19, then the first number is : ; 1 5

| Wyf‘% \}JO H} L1218
(A) 16 (B) 19 (o® ©) 184 , qg(D) 17 35 L
@qwcu@wmwmaﬁmmﬁlzoﬁﬂaﬁm aé:&%? iu%aaaq%mqrw%?ﬁ@a
a3, 1 SR @ Y% ST IR ® (oo I‘lj_% [\a
A shopkeeper marks the price of a book 120% aﬂe its:cost price. If he gives a (f ount ot 10% on the

(A) 110% (B) 60% (C) '98% (D) 65%
T el T 5T T T 6,400 7 |wamﬁs@rawzs%maaﬁhmm%|%ﬁ%w I8 Sifha

mmzo%ﬁmzﬁmm%lﬁraﬁ?mmmmév j‘%
The cost price of a table is T 6,400. A merchant wants to make 25% profit by sélling 1t ‘At the time of the

sale, he declares a discount of 20% on the marked.price. Then what is the marked price ? BQ—UQ“—S ,Q-&
(A) T 14,000 © (B) ¥ 14,500 +(C) 10,000 (D) % 16,000 ke 0
> 2

ABaﬂthmwwwﬁ%lAwmw% ﬁémmé ?ﬂ%ﬁaﬁm %ﬁémrﬂm%aﬂr
C 3w Frav e & | afe ad & aqafrgﬁfamm 05p3E g2, a‘rcamama%mﬁm AR R 2

A, B and C started a business. A invested 33 = /l.;h’ the total capital, B invested 33 —% of the remaining
capital and C, the remaining. If the total proﬁt at@y end of the year was ¥ 4,050, thcn find the amount by

which the profit of C exceeds the profit of B.
(A) T675 (B) 700 (C) T520 (D) %900

marked price, then find his profit %. E@ =, ¥ J%fﬁwyﬁ : L“Q‘/@

X
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53. i defem Tl .
a9 2, Bl SIS R 2 3 8 % 25,000 Y 0fdy, 7f gt 3 Roro s 20 350 4% S 596 S

An amou
nt of ¥ 25000 ; aare af o y
successive yog b: n0 2 years at compound interest compounded annually, if the interest rate for the
ars be 4% and 5% per annum respectively, is :

A
(A) =28.000 (B) 29,000 (€) Mo,gujo (D) 727,300

54 R F W SR wwy ¥ Rl
. TS 19 6 AT s 22 fer 3t 18 frefieier & 1 & 1
T(?‘ﬁﬂaﬁ) TR i SLALE L
1€ Speed of a boat along and apainst i i
tie cutrent (in ke ; g and against the current is 22 km/hr ag:“ 18 km/hr respectively. Then the speed O_f 3y
(4) 3 B) 2 © 7 ® (D) 4 axh ’-—1%
55. 0.7, 0.35, 1.05 %1 A wmaared (LCM) T i | L] G-b - l
Find the LCM of 0.7, 0.35, 1.05. = A% JeS b _'__L‘_‘__é ,,/’4“_'6
(A) 0.07 B) 21 [o Too’ &FB.105 t# = o) 0.7
56. X WA 1 A 25 2 SR T T (HCF) #fR @.@.4. (LCM) 3T 3 3T 105 & | at a1 Herstt &
SISRH T AMTHS T It |
Thet sum of two numbers is 25 and their HCF and LCM are 3 and 105 respectively. The sum of the
reciprocal of the two numbers is : NG +
. :
A = 8 ERG S5
7. A o e o T R e S & sk s e A @ S 2, 6 e 65% B ST | @ da e
(% )RR & 2 ! %0 _Lgres
If the selling price is tripled and cost price double‘;!?: the proﬁt@puld become 65%. So what is the present
profit (in %) ? D
(A) 26.5% (B) 10% © 50%&:} (D) 45%

8. VIR o % fore ST7=aa o Fed Usgufel TS SATaTaenrer E@om o w8 2
(A) 3T=T 360 (B) 3TT=3% 370 (C) FTHT3I52 D) FTITTT356

Under which Article of the Indian Constitution can the President proclaim a National Emergency ?

(A) Article 360 (B) Article 370 (C) Article 352 (D) Article 356
9. Y “IR TS e foreh g forelt 7 off 2 | -

(A) TSR Erdiawhl | (B) WHFET

(C) et i | (D) ford e

The book “War and Peace” was authored by whom ?

(A) Fyodor Dostoevsky
(C) Alexander Pushkin

ol
(B) Anton4hekhov
(D) Leo Tolstoy

0. frfefad i & F-aT GST H T TAR T @ 2 O
Which of the following is rot a type of GST ? e
(B) QBT € cosgy (D) IGST

(A) SGST

L e i & - AR ST (S F IR E 2 ‘
(B) frafaafaet (C) =AMIR T (D) AT YT

(A) HE . :

Which of the following is an example of a non-tariff barrier ?

(A) Quota (B) Export subsidy (C) Trade Agreement (D) Import duty
ST T ATy IR S e
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62.

63.

ﬁt{%ﬁaaﬁﬁﬁq-wmma%awmqﬁmw%?
(A) TR (B) TSY ITTE I[eeh !
SN (D) =] U HaT . (Saeh)

Which of the following taxes is not levied by the Central Government of India ?

(A) Corporation Tax (B) State Excise Duty

(©) Income Tax (D) Goods and Scrvicc;.’{ax (GST)

ST I A et S (PSA) o oee af ariefies e g e e & 2
(A) Tr At e o erienres it w0 ardy ity safipdl o) oot

(B) EmgaTes gfiin sit wesnfiar S s Z]
(C) et W&l o i el W 37T gere i aqma S @)
(D) Wﬁwaﬂtﬁﬂrﬁﬁqu‘iﬁﬁm@aﬂ% ]

In what ways does the Public Safety Act (PSA) of Jammu and Kashmir ensur(i."' nternal security ?
(A) By detaining individuals suspected of activities prejudicial to the security of the state

(B) By enhancing community policing and engagement

(C©) By promoting dialogue and reconciliation between conflicting parties

(D) By strengthening border security and surveillance measures

64.  SATIHTE SeT o T sTTdiepad) i detie aarfiht wr ewiin e 8, o T ST -
(A) TR ITFATT ‘ (B) WERHARFAR ()
(C) a3k (D) ARF-IACFIE s
The Internet Technologies used by terrorists to spread terrorism are termed aé’ﬁ
(A) Ecoterrorism (B) Cyberterrorism <]
(C)- Bioterrorism (D) Narco-terrorism ®)
65. TorsTeft Searet o o e & & forer sframew $u o1 ST fpar s @ ]
(A) Ugifeam (B) Ffaw . (C) i | f_{tD) I
Which fossil fuel is primarily used for electricity generation ? ®
(A) Petroleum (B) Uranium (C) Natural gas (D) Coal
66. T8 U Zofohe & ST foreller QeMTedl oAt A& T & S 2 il ST & o7 21 Seraat s §
gEA ARl
(A) TE e | (B) WWAENH |
©) shew (D) et sieRt ¢
is a toolkit that targets financial services and enables hackers to builditheir own Trojan malware.
(A) Rakhni Trojan (B) Spy Trojan
(C) Zeus (D) Tiny Banker <l
67.  ~fifer st o6t yEm Rt T R 7 ®
(A) Tt feprer ot e T (B) Tt 35 VAT it 61 Wbt sy
(C) A ¥ Fa s oy Selerd T (D) WW#%@’%W
What is the main function of NITI Aayog ?
(A) To formulate national development strategies (B) To manage India’s defence forces
(C) To manage India’s central bank (D) To oversee national elections
T e M A R T T 57 i R
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Eg)) ﬁaﬁ@awﬁﬁﬁqﬁamr U ST w1391 §52 v Yoty w1 o 20 oo 3
© ;fm T, ST S e e

e "
(D)  Siafer sy

What is the ma;
Mam purpose of the Associati
- se ssociation of & ast Asic i 28
(A) Regulatmg mternational trade ( ; e S R
{

(B)  Economic
¢ growth, social progress andu
o = 5 o [+ 554 3 [
©) Military cooperation : - fevelopmen
(D) Space exploration -

i?-m%mwmm%ﬁma;@m%?
_ _ B) FHgwew = O) afteFTes FateF
F;I)ml;ndian state is famous for the classicléjfllance f(orzn Mohini;attam ? )
A) Kerala (B) Andhra Pradgsh : |
. (C) Tamil Nadu (D) Karnataka
T%%aﬁﬁaﬁ:r-mﬁaﬁﬁﬁm (T hE) T e 9
w;‘ TTSH B) N s (C) e (D) 37 o
" ich of the following is the cause of Melanornia (skin can:er) ?
(A) 1;’dlergens (B) Ozone depletion (C) Pollution (D) Acid rain
1987 W SEATTRE TR — sfteiht qusihy =1 ey sie @
T RS SARERIEIN
(A) T HISg@ETET e
(B) UTHIY Ssit o ferehmer sty ol
(C) =¥ fommmr ot T shem <]

(D) #icisr & ATl Hos @1 5 Fe aﬂr@wﬂmmﬁmﬁﬁgﬁf‘aﬁm
What was the main purpose of Indo—Sri La@ Agreement signed in 1987 ?

(A) To promote tourism &3

(B) To develop nuclear energy @)

(C) To establish economic corporation
(D) To resolve the civil conflict in Sri Lanka and ensure Tamil minority rights

w1 fersfieRtoT €T &, a1 HET 7o @ aeft & A Forelt oft ST 3 et 3 o SRt e 3 v 3

1 ST 3Tl Rufe § T w s 2 |
(A) T ®) T o (O T (D) SHfwt e
When demonetisation occurs, the currency gi:jges its__ and is no longer of the status to be used as

legal money for any kind of transaction.

(A) Money value (B) Coin value - (C) Currency value (D) Face value

AR -

Pt e e e (NESM) 1 97 T " . o

(A) 115 derendfa s & e § D (B) Ila?jaaﬁhqﬁw%a:faﬁj

©) o duadfardsFTHAEAE »n O 10eff derarer 2T o 3fa o

When was National Food Security Mission @§FSM) launched ? oo

(A) Mid of 111" Five-Year Plan (B) End of 11" Five-Year Plan

@ MidoroP FregiatPln T8 (B) Bedofl0THbederBism. o o
Vicy G’ SIS Page 13 of 24 o
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74. ﬁ?ﬂﬂﬂaﬁqﬁmmmﬁrﬁﬁw;ﬁm%? |
(A) mﬁﬂﬂﬁ (B) aﬁﬁm (©) (ﬁ}‘{;;;,:ﬁ (D) ’ﬁﬂqm l

Which Indian has won the 2

023 Ramon Magsaysay award ?

(A)  Kailash Vidyarthi (B) Anil Ambani (C) Ravi Kannan (D) Gautam Adani
75. ST R WA R 9 7N

(A) o B) o (o) R (D) féar

What was the ancient name of Beas ? (e

(A) Vitasta (B) Purushni 1 (C) Vipas (D) Askini
76. Pt i - o wErehify Ay 37

(A) Fae werdt garehifa I (B) e S @re gerehifer At

(©) et ST qEreifer & (D) et @ gETEhIf

Which of the following is/are subsets of w‘]ti:glesale inflation ? )

(A) Walk_mg Inflation only (B) Both Housing and Food Inflation

(C) Housing Inflation only (D) Food Inflation only

77.  RIEIY IfEAr wRA RTR 2
(A) & &Y SR T e At e Hr e s
(B) I% U NICHTEA W& hiaT &
(C) e srgerem S fermprer ot 3 g wfone) v war
(D) TE FETeR S JTHAT I Teaied FaEs
What is the ‘Startup India’ initiative ? ¢
(A) It regulates the establishment of smalﬁmd medium enterprises
(B) It provides tax incentives s '
(C) It provides subsidies for research an@ievelopment activities
(D) It encourages innovation and entrepreneurship

78. Eﬂ%ﬁq—mmmwwmw&gﬁw%?

(A) Fre (Fgeh) TS (B) i w1 $inet (e
(C) TeATHTH (D) U3 TS F g
Which of these is considered to be the hardest substance in the human body ?
(A) Elbow (bone) joint : (B) Tooth Enamel
(C) Knee cap - (D) Toe Nails

79. Uﬁﬁmﬁwnmﬁwﬁﬁ%%ﬁﬁﬁmw%mﬁw%?
(A) VI T WiFYH o |
(B) T (R SR ]
(C) T USRI |LET ®)

(D) WHETRERR draor STfeHET

The Human Rights Commission in States 1’5-§established under which of the following laws ?

(A) Constitution of India (3) .
(B) The United Nations (Privileges and Immunities)
(C) State Protection of Human Rights

(D) Protection of Human Ri ghts Act
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80.

81.

82,

83.

(A) W&a S 1 31 PreiferRaa 3 et faar s & 9
Basketbal] \:af.g_sqf_ (B) =, %mﬁm{ﬁw (C) #rart grcker (D) 2Te%s qrE=
(A) C‘l;q! 48 said to have been “invented” by which of the following ?

‘harles Goodyear (B) D, James Naismith  (C) Coburn Haskell (D) Alfred Mynn
T R 2 R 1S 5 o e
R ol (B) el (C) fenfdin (D) =hm
_R) — 18P uishing through some form of a text message or SMS.
) Bemsilsgss (B)  Catfishing 1 (©) Smishing (D) Scam
SR SN 5 T I A 7 R e
‘*“}) ‘[ IS (B) grex foeht o’ ©) T (D) &
What is the name of the State Flower of Uttar Pradbsh ?
A " . et L .
(4) Lotus (B) WaterLily 1y (©) Gulab (D) Palash
TSR FIEAT ST 7 7 Feeg 2 9 g-‘---‘|

(A) T AR TG G S

(B) 1 STt ot & v et ) wiitor sy )

(C)  I% Farierofia el o Safere sear @

(D) WW,@.H.H%,W@I#@M%W%WQ%W%

What is the importance of the Malabar Naval Exercise ?
(A) It facilitates trade agreements
(B) It addresses issues related to water pollution

Tty

(C) Tt addresses environmental issues &
(D) It enhances naval cooperation among IndiafJSA, Japan and Australia -

4. FrefrRas s STt i & w-a s st R o | |
(A) TSER | :‘ (B) It eI STYSTE (F)2Te)
(©) FR™E & o0 eEgm -
Which one of the following ocean currents is di@éﬂent from others ?
(A) Labrador 7 (B) North Atlantic Drift
(C) Kuroshio : ' &) (D) Gulf Stream
5. frefafaa o @ Hi-ar RiSfw weet 1 R § 2
(A) @H (B) difareex (C) s - (D) wUE
Which among the following is not an example of synthetic fibres ? :
(A) Rayon (B) Polyester (C) Nylon (D) Cotton
6. mwﬁ‘mﬁgﬁﬁ@’%mﬁww%ﬁ
(A) UM (B) UTERAS i (O = G (D) =& it
s I3 L.} ” f)
Which country is known as the “Land of the Rising Sun” ? | Azt
(A)lc Japan i (B) Thailand ] (€) China (D) South Korea
1 %ﬂﬁ?ﬁﬁﬁéﬁgwaﬁﬂ%m@f%ﬁ“'{amﬁ%@ i
(A) TedgTaEE | [ B e
(C) T, =R A% (D) BTHTAIE
Who was. the first Indian to win the Nobel Prize {piPhysics ?
(A) Satyendra Nath Bose : E[E)'; ](-:I(:n ERSII::{)?m
(C) S. Chandrasekhar - S SNCE. . A NSNS ST et 308. s S
TR e | R Page 15 of 24
A
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88.

89.

90.

A) @mmﬂ@mﬁ%ﬂm{ﬁ&w%? “ ;_

In which city ig te (B); AR G ¥ B l

(A) Paris 1¢ hey adquarters of the European Union located ? & 5
(B) Vienna (C) Geneva (D) Brussels |

Wﬁ%ﬁ%%wﬁqﬁmaﬁw%wﬁwmw |

(A) TH. ™ (B) mwrer it

(©) vaTEme Fww (D) usha it

The birthd; ay of which leader in India is observed 4 tuldrcn s Day ?

(A) S. Radhakrishnan 44B) Mahatma Gandhi

(C) Jawaharlal Nehru D) Rajiv Gandhi

et 35 T v v <]

(A) ST TG o T 3t 2 & & 7fere st ubarer s et 3

(B)  Helet O el ST STt & L]

(©) ﬁﬁﬁmm@%m@ﬁﬁm%m@%ﬁmmm
(D) TS A TR IS St & &

Rotation of crops means :

(A) two or more crops are grown simultaneously to increase productivity

(B) only one trop is grown

(C) growing different crops, on the same land, in succession to maintain soil fertility
(D) some crops are grown again and again

91. T & (W 2024 TF), Bl wdemiy & 3 - I (ITU) % fefrea wiowm a8 %
HE-STEET o T H AT 2 &
(A) it e (B) 315/ to firyr Q) Iﬁlﬁﬁiﬁﬁ : (D) AU 3wy
Recently (as of March 2024), who was unammoug%[ elected as Co-Chair of the Digital Innovation Board
of International Telecommunication Union (ITU) ? 43
(A) Neeraj Mittal (B) Ajay Ranjan Mmhr‘!i IC) Sunil Mittal (D) Aparajita Sharma
92. 1764ﬁwaﬁa@§ﬁmﬁsﬁﬁﬁmmm@mm? : :
(A) g (B) TR eh (C) HR=tem (D) Fre-sg-dren
Which Indian ruler was defeated by the British in the Battle of Buxar in 1764 ?
(A) Tipu Sultan (B) Haider Ali - (C) Mir Qasim (D) Siraj-ud-Daulah
93, HIF-H T AT ‘s@wz@u@i@ T % G 3 7
(A) FIWSEREE #(B) ¥ fiiw
(C) ST e ) ERIRERA LIRS Creny
Which freedom fighter is the author of the book “Ig&oductxon to Dreamland” ?
(A) Subash Chandra Bose i B) Bhagat Singh
(C) Bal Gangadhar Tilak 0 D) Vinayak Damodar Savarkar
94, AT Yy fEsEA, @ﬁf&ﬁﬂﬂ?ﬁmﬁ BRIE) TTWWEEIHT%7
(A) oo (ciafe) AB) T (v e
(C) wegsR (Hfcre) . ©ID) et (i a-qma)
Which research design studies the same subjects over a period of time ?
(A) Longitudinal (B) - Experimental
(©) Comelationgl . . . w0lacEe e (D) Cross-sectional
e R i - o SR IRRGRIGRERN e R S e g
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95. TR AFETIRIEAIC SR (NHRC) 3 atwrar ai wawdt A Frgfes fredk g A St & 7

(A) gy ]

The Chail‘pcrs:iii th o ﬁﬁ,ﬁﬁ ; o) W»?;_Wf?f o Wrmﬁ

s { ¢ Members of the National Human Rights Commission (NHRC) are appointed by

(A)  Speaker of Lok Sabha (B) Finance Minjstpr ~ (C)  President (D) Vice President
6. 1 QT et iy e s Hh

Complete the pattern given below e

D, DD, DDDD, DDDDDDD, <]
Eé)) g’gggﬁgggnm @ (8) DDDDDDPLLDDDDDD
[] (D) DPPDDLDDDDD

7. ST T a1 3 fer 4 o e e R | o

(A) T () VB et >

(C) THR (D) FHR %

Barometer is to Air pressure as Anemometer is to ' : 3

(A) Humidity (B) Speed of aeroplanes

(C) Temperature : (D) Wind speed

3, 1 XTI S e o o & o u, 80 TRl 6 R & el g, vel fom i 44 fafl/der 1t &
=TTt g5 THL T 40 TohUS H qR T 2 H:
(A) 4207 (B) 400, o () 3607 (D) 440 7.
What is the combined length of two trains Whenﬁié]le, moving at 80 km/hr, crosses another, travelling in the

same direction at 44 km/hr in 40 seconds ? @) : o

(A) 420m (B) 400m [ © 30om (D) 440m 4o % 5
. HEe H ST §E g A | & ¢ l%’% _ )/5

Find the next number in the series. &) \ pd( {42’__/77 - \? O L/D

(D) 190 /[’%):

88, 108, 130, 154,
(A) 1709,0\{;')* L ®) 180
s 28, 126, 344, 1332, T T hITST |

: ies 28, 126, 344, 1332, . |
(szlp;itggthéggiz (S qB(B) 2198 . (©) 2167 \’3— (D) 2197
V20 - . . |
; T ﬁ%@éﬁﬁ@%ﬁ%%ﬁﬂw@%aﬁmgﬁrﬁﬁﬁmiww%gq@ﬁ
) g?a?njﬂaﬁﬂ:%ﬁ@ﬁﬁaﬁtsﬁaﬁdm&w%\ﬁwﬁr&?m#aﬂtmmmﬁmﬁ—g?
w | @@ O St (D) <

nts ‘stand i i i ﬁq ting the hours of a clock with the first
Twelv tud ' in a circle facing the centre and represen | :
tve $ he ltSS X “the 2“d hour position and so on. In which direction is the
student at the :

t hour position, second student i{,
student on the right han

d of the 10™ student wi e spect to him ?
) N rth (B) South-West @:;D' (C) North-West (D) South-East
(A o . |
b, sygE g I el o GRA. =l e
Find the dissimilar number. ; ) 1= ¢ 2

78, 104, 139, 156,178

(C) 160

5

_____________________________________

1,
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104.

----------------
________________________

30%

F AT = 1200 framm 1000 fereTiaT™
e THM A IR THM B 31 # 3 o g e 30§ﬁhﬁmn Y1 Y HIHA € 40 ﬂﬁw WE‘%%

T 20 S Reelis, s weit 1 A = 15 Sy e ofi swrEs A B T 18 SR el 3
WAaﬁTWBﬁﬁw%ﬁwmmw%o

(A) T52,630 (B) 52,620 (C) 52,260 (D) 52,360

Study the pie-chart carefully to answer the question given. The pie-charts show the percentage quantity of
fruits at two fruit shops A and B.

Shop A H  ShopB
Guava

Others
30%

Total quantity = 1200 kg Total quantity = 1000 kg °
If Mangoes are priced at T 30 per kilogram, Apples at T 40 per kilogram, Oranges at % 20 per kLlogram

Other fruits at T 15 per kilogram and Guavas at per kilogram in both Shop A and Shop B, what is the
combined price of all fruits at Shop A and Shop o

(A) 52,630 (B) ¥52,620 <,léc) 52,260 (D) ¥52,360
t{eaméamamﬂiz,3456?83ﬂ? SHT: A, B, C, D, E, F, G, H, 1 3% J g awiiar Sl

;’émﬁ[@xmﬂwmwmmm g (S99 5 A

According to a code, digits 0, 1,2, 3, 4,5, 6,7, @ldgare represented by A, B, C, D, E, F, Gﬁndl
respectively.

In this code find the value of [(C x D) + (F x J)J/D.
(A) 19 (B) 17 (C) 16 (D) 15

———————————————
———————————————————
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. 5 c (I i g Y i . =11- -‘. C‘yt ?
: au&\htcl Of Z. IS 1|)(: ([[lLIgIIlCI' ill ]{IW Or /. ¥ i-; th ) 0!‘::' ' h: i'

A z
B 7
(B) Y <“J (C) X (D) U

106. T HE =ARE 12 93
Wﬁgmﬁmﬁwgﬁﬁ-mqaﬁﬁﬁaﬁmaﬂtmzﬁaﬁrﬁmﬁwm%ﬁ:ﬁaﬁ:waﬁﬁ

A) o @
(B) afer J© = (D) afar

If a person walks f ’
o e ﬁkon.l 12 o cl(?ck to 9 o’clo@®) then from 9 o’clock to 6 o’clock, and finally from
10CK, 1n which direction is the ffetfon finally facing ?

(A) East (B) West & (C) North (D) South
07. 3¢ 95474 % GCBER forar s 2, v 73453 ﬁé@%@?ﬂw ?
If 95474 is written as GCBEB, then how is 73453 written ? |
(A) AEBAC (B) AEBCA (C) ACBEA (D) EABCA

08. ﬁ'ﬂr%%ﬁm%ﬁmaﬁmw?ﬁ%rqaﬁtwwwﬁﬁql
R M|k |T|A|Blg|s|w|[F|lH|U|[D|[P]|Y
FIS 6l * | s |~|7 |8 |1 |2]|3|4]|%]|9o]|#]Ss

T TS ARt 3 STER BMIKPU 1 his T2 ? °
e NI JARE. A
i< UTAT ITE Ueh = & IR ST 3781 woh wx 224) a1 oY & shie & &9 § shifed foram T =nfe |
(A) 86154% (B) 861548 O 8%154% (D) %6154%

Study the following table and answer the questiofg)
'T|A|B|E|JT|W|F|H|U|D|P|Y

Letter M I K
6 * 5 A 7 8 @ 1 2, ‘3 4 % 9 # 3

Code

What is the code for BMIJKPU as per the given table ?
Condition :
If the first letter is a consonant and the last letter 1@ vowel, both are to be coded as the code of the vowel.
(A) 8615#% (B) 8615#8 % (C) 8%15#% (D) %6154%

<rer : Fe :: MaT: ? ® | 5 fl
Complete the analogy ] " E

Iron : Fe :: Silver : ¥ i

@ (C) Na (D) Cl m

A) Ag (B) K
BWC%WW@W%IAﬁBﬁfﬁmﬁﬁﬁ%Gﬁ(Baﬁcﬁf4m¢

0, 49 I FE TR A, bt &
e 379 S T Wdistribl;tc d among A, B, and C. A receives ¥ 5 more than B and B receives T 4

The total amount of €49 is

. tio of their shares ?
more than C. \?;filat 1s,the(r;)10 ;l 1612 (C) 21:14:12 __-,_.(P.)__I_{ti_]_ﬁ_:,? __________
(A_) --?1-—1—6— """""""""""""""""""""" Page 19 of 24 N D, g
YX-24 %’% ( g, —lf 6 '
,.»-"""-\
~ = i P~
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L. ﬁ’:‘%%ﬁﬁﬁaﬁmmm@mu BT 1 IR frsyur 787 7

A
(C)) a”qli'%‘tﬁ (1B) wiereft gt fera ol
; - <3 Ay sKD) fewmm
tich one of the followi ing is not the graphical reprisentation of statistical data ?

(A) FILquenc) polygon lp?') Cumulative frequency distribution
(C)  Bar graph D) Histogram .

112, IR e L%%J%EJAGE %aqaéaﬁtafa“tamt J%aaaﬁqrﬂrq et ot <y e o, aie S
STER o N gt T A o |aﬁmmﬁﬁqﬁa@wmﬁ?—mm°
If the first and second letters in the word ‘LANGH GE’ were interchanged, also the third and the fourth
letters, the fifth and the sixth letters and so on. Which letter would then be the fifth letter counting from the

left ?
NRAL EDy
(A) N B) U RLA (C) G D) A
113. wm@m%ﬁ%mﬁwm%rﬁ@ﬁmﬁﬁaAﬁwﬁ%%aﬁrwﬁmﬁA%
?UWHI%EBWW%IW%T@ﬁmwmﬁﬁ?ﬁwmﬁqzﬁwmml
I TR FoRft 2 9 ) \eo (Y&

(A) 90 frdfiufaser  (B) 1oo%n°rgﬁraa ey gofmftufaser (D) 110 fordft ufa sier
A train can travel 75% faster than a car. Both sk from point A at the same time and reach point B,
70 kms away from A, at the same time. On tha"ﬂ.ray, however, the train lost about 18 minutes while

<

stopping at the stations. The speed of the caris: . ey g .
(A) 90 kmph (B) 100 kmph ® ](C) 80 kmph {j’—@)‘ léchm
Y. 9. 1149 118 TTerior 94 | w (2

9T HETS o foroer 31 fersterar: s = & srh gfamn Hdm e ﬁaﬁﬁaﬁtwﬁrn@nﬁ%uﬁiaﬁsﬁ
T U O T ST FoTat STeiET ohY ST et @ | fivamsft ¥ o siefiar A sftemgeedier & e 6 O S Sshadt I
e e o e ot guf-ar o fewmn ﬁrwaﬁwﬁﬁnwm&ﬁmmaﬁmwﬁmwm
mwaﬁawwaﬁtqﬁﬁﬂﬁaﬁ S | gelt T & 8 w7 feeet v A s < fewr o ok w ane
mﬁmﬁw&ﬁ%maﬁ@mﬁamwwwmlmﬁﬁmﬁﬁmﬁ%@mﬁrmm%—

T3 sTeT T RTesT 4o | mmaﬁmﬁmwaﬁtwwmwa é\ -
114. Waﬁﬁ%ﬁawmwmﬁmwaﬂaﬁw% g ?7
(A) =g EER ST AT dE otf(B) we=iiw waR i ut deer ) ,S
(C) VTERAR T IET <](D) Ui FaT ST =g ey
115. 91 o TS/ ohTed 10 T | ©
A) R (B) 4T EEE(C) T (D) T
116, WETHT 07 SR i 9, o ST T T AR
. (A) ST ®) HRRETE (©) frams (D) w¥eT
117, el Favers < e i Forey e G e el A E
(A) Tirem 3us, farart faret (B) firar =, e fswy
() fraramarh, Ry T (D) e =i, f¥van feremer
118. 58 eria %7 e iR € e ©
(A) o1 oY AT (B)  ¥NOT o SFToerarer =y
© wfdE (D) ot gfgwran j
STy e SRS Page 20 of 24T m et
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119. “ARFS F fye N "
@) Wﬁfﬁj’t@ g KA QIR TR 11| B R S p—p—
(€) iR vt qrasn

120 “CT®) ¥ S a0 2 w5 13 Ry R 3 Ry

() 3n'«rﬁaf[umrt
(D) wuaH gL at
ﬁf{lsrﬁt i s Aafen )

(A) T® ‘ (B) T o (©) T (D) T
121. ﬁmﬁzﬁ;ﬁﬁﬁ-m‘mmmﬁqm%?f] |
’s (-M 5 (B) @) (O w (D) T
122. €& @Wﬁémwﬁwm’fmﬁmﬁngw%}
(A) I !
) ®) T ‘E_";’) (C) doan (D) dgvd
123, W S vEiEE e 2 § - :
A fooreen
} ). W - ®) (C) fufa (D) IaF
124, T, AT, whor v o 35 ot o
125. iﬂmﬂaﬁ?ﬁﬁaﬁé@%’—mﬁﬁﬁw%: Y
B (B) T () e (D) @it
126. “TCIH~THIG" W68 H Seh I9e & - ol
(A) 5 (B) Wegd, g €) ¥ (D) Wi
127. “OHME T OHER
(A) 35 (B) %’g Q (C) FHEII (D) e
128. “fafere e R e £ 2 &
(A) EfE (B) &M= (©) e ) Fre
129, fr=ferRaa & & 3 AT =1 =3 Hifo ; |
(A) o T SN T 7 | ~ (B) AT 3R TR T HTE YA o |
(C) TEATTHE | o O 10T < ST T E |
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